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mto continue the e Circleandexplainthe mistakesinthe e Orderthe
sequences below. you have ¢
1] 12456

10’ 10”10’ 10’ 10

e Thecake issplitinto 10 equal pieces.

nces:
o One personis correct. Explain who: .
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e True orfalse? Explain why.
Tulisasaysthat 10p isone tenth of £1.
Owensays that 20p istwo tenths of £2.
e Ona numberline oto 1, label:
0.7, —,—, 0. 9 —
10’ 10’ 10
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Canyou continue the pattern Upt01_o? e Buildat

You can
. tenthse.
e Three pizzasare shared equally between o

. cubes (s¢

tenchildren. o (
If each pizzais cut into 10 pieces, how cubes (o
many pieces will each child get? cubes (t\

Prove itusinga picture or diagram.

How mal
come up
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)mO0-1.Can [ ® Whatdoyounoticeinthe number e Lara has30 cherries.
H 1
ctionson sentences below? On Monday she givesl—oofthe cherriesto
1 hermum and theneats7.
2 = 2 .
— 10 of20=2 On Tuesday she eatsl—o of the cherriesand
2 gives 6to hermum.
— - 5 .
1 10 of20=4 On Wednesday she eatsﬁofthe cherries.
3 -
o 0f20=6 How many cherries does she have left?
oshow the
10 . .
Canyou continue the patternupto -2 | Build a tower, using 30 cubes.
You can only make it by combining
e Three pizzasare shared equally between t_?_gt_h_sf '_gj_l c?‘_"‘i”_'a_'ﬁ":“wﬁ'tﬂz% red .
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